Swjwnwpwpniejniu

<< Swyniph dwpgh Untdpbpjwuh  hwdwjupwwbnwpwup  hwjwnwpwpnd £ UnjGdpbpw
hwdwjuph ubithwywunyentup  hwunhuwgnn  hnnwdwubiph  qupdwjunmput  dpgnyp  pwg
nwuwywu Ywpgny, npp wnbnh Ymubuw 2023 pwywup dwihuh 19-hu, dwdp 11:00-hu p.
Unjbdptnwt  Gpuwuywu 4, Gpypnpn hwply, uvbbywy 15 hwugbind  (hwdwjupwwbnwpwuh
Jupswlwu otup):

Lnin N 1. Dwdlwghp' 11-024-0001-0077, hwugti’" << Swynigh dwng, hwdwjup Lnjtdpbpjw,
puwlywdwyp HWpbnwjwu, bywwnwuwihu Bywuwynigniup' gjninununbuwywu, gnpdwnuwywu
Upwuwynyeyniup'  Jupbjwhnn, hnnwdwuh  punhwung swihhg' 0.16992 hw  wnpwdwnpb
Jupdwwinipjwu, wwpbywu Jdeluwpluwiht Jupdwydbwph swih' 5000 << npwd, pwyh swihp
dayuwpywyhu quh 5%-h swihny’ 250 << npuwd:

Lnin N 2. Swdlwghp' 11-024-0115-0015 hwugbt' << Swyniph dwpg, hwdwjup Lnjtdpbpw,
puwlwdwin HWpbnwjwu, tywwnwluwiht Bywuwynigynup’ gjninununbuwlwu, gnpéwnuwywu
Upwuwynyeyniup'  Jwpbjwhnn,  hnnwdwup  punhwungp swihp' 0.76288  hw,  wpwdwnnb
Jupdwlwnipjwu, nwpbywu deluwpyuiht qupdwddwnph swihp' 14000 << npwd, pwjih swihp
dEyuwplwyhu qup 5%-h swihny' 700 << npwid:

Lnin N 3. 0wdlwghp' 11-024-0115-0012, hwugbu' << Swyniph dwpg, Lnjbdpbpjwu hwdwjup
NYopbnwjwu puwywywyp, tywwnmwyuwiht tpwuwynieyniup' gjninuinunbuww, gnpdwnuwlwu
Upwuwynyeyniup'  Jupbjwhnn, hnnwdwup  punhwunip  swiphg' 1.40373  hw, wpwdwnpb]
Jupdwwinypjwy, nwpblwu dEyuwpluiht Jupdwybwph swip' 24000 << npwd, pwyh swihp
deyuwpywyhu quh 5%-h swihny’ 1200 << npwd :

Lnin N 4 . owdlwghp' 11-024-0115-0013, hwugbt' <L Swyniph dwng, Lnjkdpbpjwu, hwdwjup
Ypbnwdwu,  Uywwwlwht  Vwuwynyenup'  gjninuntnbuwlwl,  gnpdwnuwlywu
Upwuwynyeyniup'  Jwpbjwhnn, hnnwdwup  punhwungp swihhg' 0.62356  hw  wnpwdwnnb
Jupdwlwnipjwu, wnwpblwu dEyuwpuwiht qupdwybwpp swih' 12000 << npwd, pwjh swihp
dEyuwplwyhu quh 5%-h swihny' 600 << npwd :

Lnin N 5.0wélwghp’ 11-017-0110-0264 hwugbt' << Swyniph dwng, hwdwjup Unjtdpbpjw,
puwlywdwyp Pwnwuhu, Uwwwnwluwiht bpwuwynignup'  gjninuntunbuww,gnpdwnuwlywu
Upwuwynyeyniup'  Ynphqwynp,  hnnwdwuph  punhwunip  swipp  0.67711  hw, wnpwdwnpb)
Jupdwwinypjwy, nwpblwu deluwpyuih Jupdwybwph swi’ 15000 << npwd, pwyh swihp
deyuwpywyhu quh 5%-h swihny' 750 << npwd :

Lnin N 6. Owdlwghp' 11-017-0110-0265, hwugtu’ << Swyniph dwpg, hwdwjup LnjGdpbnwu,
puwywlwyp Pwnwupu, Uwywwwlwht tpwuwynyeniup' gninununbuwlw, gnpdwnuwlwu
Upwuwynieyniup’ Ynphquiynp,  hnnwdwup swihp' 0.1686 hw, wéninh deluwpywihu ghup
4000 << npwd, puyih swihp dehuwpYughtu qup 5%-h swihnyg' 200 << npud:

Loqwd hnnwdwubph uywwndwdp uwhdwuwthwynidubip W ubipghnnunubp sywu:

Ungnyphtu dwutiwygti gwulwgnnubipp ubpyuwjwgund tu hwywn, dwutwlgnygjuu hwdwp
uwhdwujwsd Jdwph wunnppughp (Jupdwlwinyejuwu dpgnye' 20000 << npwd) b wuduwghp:
Lwynbpu punniudnd Bu woluwwnwupwihu opbiphu dwdp 9:00-hg Jhusl 18:00-u" << Swiyniph
dwpg, p. Lntdpbpwu Gpuwujwu 4, wénipnwiht b dpgnyewiht hwuduwdnnnyhu: Uénipnh L
dpgnyeh hwyinbiph punniunwit nu gpwugnuip nwnwpbigynwd £ wénipnh W dpgnyeh Yuwjwgdwu
onjwuhg 3 on wnwy:

YJwpdwunipjut Upgnyph wuglwugdwu opp dhusk dpgnyph uyhgpp dwutwlhgp éwpnud k
uwfuwydwp' 5 %-h swihny:
Utnipnhu b dpgnyeht dwutwygbint hpwyntup niubu << optitunpnipjwdp uwhdwudwé hnnh
ubithwywunyejwu hpwynwuph unipjtiyn hwunhuwgnn $hghlwywu b ppwywpwlwywu wusdhup:
Usnipnnid b dpgnyenwd hwnenn Yéwuwsyh wdtwpwndp ght wnwownlwd dwutwyhgp:
Uwupwdwut nbintynigynitubph hwdwp, htuswybu twb (nnbptu nunwitwuhpdwt bywwnwyny,
nhdb] Lndpbpwup hwdwupwwbnwpwu' << Swyniph Jwpg, p. Lntdpbpwu Gplwuwu 4,
Gpypnpn hwny, ubuywy 15, hinwfunu /0266/ 22393:
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